Adet (ppb)

3000

2000

1000

X2 7 ndf 45.75152
p0 319.8+ 131

o

-1000

-2000

—_—

——
[—

—_——t—
H

1D pull distribution

Mean 0.02031 £ 0.1276
14 B StdDev  0.9289 +0.09022
r Underflow 0
12 Overflow 0
r X2 / ndf 2.103/5
101 \ Constant 1025 +191
I Mean 0.03676 + 0.18234
8 !
Sigma 1.116 £0.184
6 —
aF
2
0 | | 1l 1 | 111 | 111 | 1 Ll | 11l
-8 -6 -4 -2 0 2 4 6 8




Adet RMS (ppm)

0 9 8 7 6 5 4
m » o » (o] (e} o

(wdd) sy

v'avly
<1744
[Ac17A4
<1744
0'SvLy
v'vvly
Evviy
iy
Tyviy
[Wha7A74
S'eEvLy
v'evly
eevly
CEVLY
Tevly
0evly
Serly
vevly
eevly
cevly
Tevly
ocrly
V'ivly
Ty
Ly
TTviy
0'Triy
v'oviy
eovLy
oLy
Toviy
ooviy
V'6ELY
€'6ELY
C'6ELY
T'6ELY
0'6ELY
2'8ELY
T'8ELY
0'8eLY
[AVAVA4
TLELY
0'LELY
€9ELY
29ELY
T9ELY
0'9ELY
S'SELY
V'seLy
€'GELY
¢'SELY
T'SeELY
0'SELY



cor_asym_us_avg (ppb)

S Hmwlw |
ST T TR )

-1000

——
—_——t—
H

-2000

—2000 e e ey

1D pull distribution

14

12

10

Mean

Std Dev

Underflow

Overflow

X2 / ndf

Constant

Mean

Sigma

0.02031 + 0.1276

0.9289 + 0.09022

0

0

2.103/5

10.25+1.91

0.03676 + 0.18234

1.116 £ 0.184

-5

-4

-2

0

2




g RMS (ppm)

us_av

ym_

cor_as

0 9 8 7 6 5 4
m » o » (o] (e} o

(wdd) sy

v'avly
<1744
[Ac17A4
<1744
0'SvLy
v'vvly
Evviy
iy
Tyviy
[Wha7A74
S'eEvLy
v'evly
eevly
CEVLY
Tevly

0evly
Serly
vevly
eevly
cevly
Tevly

ocrly
V'ivly
Ty
Ly
TTviy

0'Triy
v'oviy
eovLy
oLy
Toviy

ooviy
V'6ELY
€'6ELY
C'6ELY
T'6ELY

0'6ELY
2'8ELY
T'8ELY

0'8eLY
[AVAVA4
TLELY

0'LELY
€9ELY
29ELY
T9ELY

0'9ELY
S'SELY
V'seLy
€'GELY
¢'SELY
T'SeELY

0'SELY



5 % ° ° 2 % 5 B
& 8 =2 5 9
bl =] 5] — bl o 0
© IS} = H ° + -
H a @ N H 0 m
I 8oy & ]
g 3 ° 5 —©
s ° = ]
: 2 3 . & .
c|§5 & &8 3§ 2 oz 5 £ ¥
[} = c > ~ o (3] i=4
o s » S 8 %« O = &
5 = «
b -
s ]
2 —H o
© -
=1 -
a <k
a ]
-
1Y
—¢
L L L L L | R I [TT T MU T S [ ST NS T P
© o [oe) © < N o
— —
N~
n o
53
-
n
_/. — —— —
N A — leo— -
+l — ]
— -
~ —
ﬂ — ——— .
(] —— -
- — i —
o [ —
@ — -
N —leo—1 -
— -
um — —1
< - —
~ ——— —1
“ 3 — —
—  o— -
—_— -
= .
2] —
=) —
r_ —
o —
o —
— —1
—_—————i —
——— -
—_— -1
—_— —
¢ L — —
w —
x| ] L1 1 Tl pltinh
< o ¥ Tnon TN

“ ol




cor_usr RMS

. —

. —

. —

. —

. —

. p—

. —

. —

. p—

. —

. —

. p—

.l

. —

. p—

. —

. —

. —

. —

. —

’ —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. p—

. —

. —

. p—

. —

. —

. p—

. —

. —

. p—

. —

. —

. —

? b .

o ° —

i

x_______________________________o__________l_.
< ™ N i ™ o 0 ~
™ ™ ™ ™ — N N N
-~ — -~ e o — -~ —
o o o o o o o

SINY

v'avly
<1744
[Ac17A4
<1744
0'SvLy
v'vvly
Evviy
iy
Tyviy
[Wha7A74
S'eEvLy
v'evly
eevly
CEVLY
Tevly
0evly
Serly
vevly
eevly
cevly
Tevly
ocrly
V'ivly
Ty
Ly
TTviy
0'Triy
v'oviy
eovLy
oLy
Toviy
ooviy
V'6ELY
€'6ELY
C'6ELY
T'6ELY
0'6ELY
2'8ELY
T'8ELY
0'8eLY
[AVAVA4
TLELY
0'LELY
€9ELY
29ELY
T9ELY
0'9ELY
S'SELY
V'seLy
€'GELY
¢'SELY
T'SeELY
0'SELY



x10°

) © o o © ~ o I
3 g 3 I N &
2 3 3 ~ g S
S 2 H 2 S
H ] < N =} ]
o + N + -
N 3 = 3 15
o 2 & 8
2 =] b3 s
© ?
> 3 H =
] = 2 k=1 8 ©
< a 3 = 2 7 < g
c 3 - 2 2 N 5 3 =)
o = 7] =] o < [} = n
=
=}
Qo
=
=
R
o
=)
o
(@)
i
P |
< N o [ee]
— — —
N~
0 o
34
N
[ee]
™~ 0
g ®
N oo
+
N~
b
(O]
N
o
©
™
u—
©
c
-
N O
< o
(2]
=
r_
(@]
(&)

0III|III




cor_usl RMS

. —]
. —]
. —]
. —]
. —]
. p—
. —]
. —]
. p—
. —]
. —]
. p—
. —]
. —]
. p—
. —]
. —]
. —]
.l
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. —]
. p—
. —]
. —]
. p—
. —]
. —]
. p—
. —]
. —]
. p—
. —]
. —]
. —]
? d .
o ° —
i
x___________________________1______________+
N~ © To} < ™ N b ™
™ ™ ™ ™ ™ ™ ™ R
-~ -~ -~ — -~ -~ . o
o o o o o o o

SINY

v'avly
<1744
[Ac17A4
<1744
0'SvLy
v'vvly
Evviy
iy
Tyviy
[Wha7A74
S'eEvLy
v'evly
eevly
CEVLY
Tevly
0evly
Serly
vevly
eevly
cevly
Tevly
ocrly
V'ivly
Ty
Ly
TTviy
0'Triy
v'oviy
eovLy
oLy
Toviy
ooviy
V'6ELY
€'6ELY
C'6ELY
T'6ELY
0'6ELY
2'8ELY
T'8ELY
0'8eLY
[AVAVA4
TLELY
0'LELY
€9ELY
29ELY
T9ELY
0'9ELY
S'SELY
V'seLy
€'GELY
¢'SELY
T'SeELY
0'SELY



4000

3000

2000

1000

-1000

-2000

-3000

cor_asym_us_dd (ppb)

X2 / ndf

—

pO

52.95/52
37.89 + 128.7

H

I Ll

1D pull distribution

Mean 0.00555 + 0.1373
12- StdDev  0.9995 + 0.09708
o Underflow 0
10 Overflow 0
X2/ ndf 1.828/6
B Constant 10.74 £ 2.07
8 —
- Mean -0.02031+ 0.16472
| Sigma 1.052 +0.171
6 —
=
o
0 L1l | Ll 1 | 111 | 111 | 1 Ll | Ll
-8 -6 -2 0 2 4 6 8




ym_us_dd RMS (ppm)

cor_as

. —

.l

. —

. —

. —

. —

. —

. —

. p—

. —

. —

‘ p—

. —

. —

. p—

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

‘ —

. —

. —

. —

. —

. —

. —

. —

. p—

. —

. —

‘ p—

. —

. —

‘ p—

. —

. —

. p—

. —

. —

. —

. —

. —

_____________________________-_______n_.
Te} ™ To) N Te} b Te}
o o N o = @ o
o o o o

(wdd) sy

v'avly
<1744
[Ac17A4
<1744
0'SvLy
v'vvly
Evviy
iy
Tyviy
[Wha7A74
S'eEvLy
v'evly
eevly
CEVLY
Tevly
0evly
Serly
vevly
eevly
cevly
Tevly
ocrly
V'ivly
Ty
Ly
TTviy
0'Triy
v'oviy
eovLy
oLy
Toviy
ooviy
V'6ELY
€'6ELY
C'6ELY
T'6ELY
0'6ELY
2'8ELY
T'8ELY
0'8eLY
[AVAVA4
TLELY
0'LELY
€9ELY
29ELY
T9ELY
0'9ELY
S'SELY
V'seLy
€'GELY
¢'SELY
T'SeELY
0'SELY



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10


